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2.2 collect.c

#include <stdio.h>
#include <stdlib.h>
#include "bandit.h"

#include "player.h"

#define MAX_TRIAL 100000

int main(){
/* BHESR - NHE */
int i, j,select_arm=0;
double reward=0.0,score[10000], max_score=0.0, tmp_score;
for(i=0 ; i<10000 ; i++){

score[i]=0.0;

init_bandit () ; /* INUT 4y RIEHE */
init_player(); /x TL—Y—#H1E */
set_arm_num(get_arm_num()); /* A>T 1 v FOBOBERE */

/* MAX_TRIAL ElE TBHEIET */
/* BHE LTz 10000 BN S R AKDAIATEBHEHE - B */
for(i=0 ; i<MAX_TRIAL ; i++){

/* BRIRE - TNITE BN\ T 14y FOETH/
select_arm = decision_making(reward);
reward = bandit(select_arm);

if (reward < 0.0) reward = 0.0;

/* &fE L1z 10000 BIDHwRAR T DRER */
tmp_score=0.0;

for(j=0 ; j<10000 ; j++) tmp_score += scorelj];

if (tmp_score > max_score) max_score = tmp_score;
/* E#HE L1 10000 O R a7 EEH */
/* score[0] ~score[9999] IZxfL, */
/*  REHWLBD score[9999] FH L, */

/¥  —{@FDF 5L (score[j] = score[j-11) */
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/x  wmLILWLEDZE scorel0] ITAND */
for(j=9999 ; j> 0 ; j—-) score[j] = scorel[j-1];

score[0] = reward;

printf ("ERAMESF®REN: %1f\n", max_score);
close_player();

return O;

2.3 player.h

void init_player();
void close_player();
void set_arm_num(int arm_num);

int decision_making(double previous_reward);
2.4 player.c
#include "player.h"
static int _arm_num=0; /* CODI7F7AILEVWTLARZEWLNT O—/\ILER =/
void init_player(){

return;

void close_player O{

return;

void set_arm_num(int arm_num){
if (arm_num>0) {
_arm_num = arm_num; /* {EULFDH */
}

return;
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int decision_making(double previous_reward){
/* _arm_num ZERET */
/* T CIZ, bandit00~bandit08 &” <" TS LEEL */
/x B3 KBIDNT 4y bbb 1 BEOBIN SIEITERT S +/
static int my_select = O0;
my_select++;

if (my_select > _arm_num) my_select = 1;

return my_select;
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